20254EF J S C A = HE Hulik B =k ki ke 1/3
S ZHEASEG AR—Y Ok 85K APk (25m)
WA ;202556 H29H (H)
No.25 % F 50m &k = A4 LL—RREE
L 10T >
B K £ & PE KR icE
1A HaAE YAV N /NG 5/ 8 39.57 6% ( 0.52)
2 W) W79 eSS N 4/ 8 39. 96 7#%  ( 0.56)
3 \A ks AL AL /NG 3/ 1 41.30 4%%  ( 0.68)
4 Bk A FEAS S /N3 3/ 5 41.53 9%% ( 0.78)
5 V4 Ad AL R /N 2/ 3 43. 85 58k  (0.63)
6 iR A HT72:ASS /NG 3/ 2 44. 14 2%%  ( 0.64)
T HAR HE TS SHABK ! 2/ 4 44. 81 4%%  ( 0.76)
8 HAH AFfE I SSH¥F ! 2/ 1 45. 58 3fk  (0.74)
9 53 LEE ] SSH¥ /N4 2/ 5 46. 15 3% (0.81)
10 B BEAL ~N 288 S /N3 1/ 5 48. 48 Lk (0.84)
11 HpdbBix OFFG7=F v /N3 1/ 3 50. 09 3tk ( 0.86)
12 & OO HIT742ASS /N3 1/ 6 52. 86 *F&h Ltk ( 0.84)
13 A PP ~NZNS S /N3 1/ 7 53. 44 %% (0.57)
OPN JRH & ESVrs:- =1 /NG 9/ 6 33.99 104% ( 0.61)
OPN HA ZH] LZ8kS S /N5 8/ 4 34. 43 10#% ( 0.63)
OPN “ZZJit Y v — h/NE NS 8/ 3 34.79 10#% ( 0.63)
OPN /NEF N B— kKA /NG 9/ 1 34.92 10#% ( 0.59)
OPN JINfE METY VASEZ J=Eie /NG 9/ 8 34. 94 10#% ( 0.60)
OPN [LIH  Z%B5 NOVE =P R /NG 7/ 4 34.97 104% ( 0.61)
OPN #AH A B I G&fF /NG 6/ 7 35.37 9% ( 0.72)
OPN By 32 TS SsH)l 7IN4 6/ 6 35. 67 10#% ( 0.54)
OPN KR EEME vty A b /NG 9/ 2 35.76 ok  ( 0.61)
OPN Kii&k #&EER v— hKH /N4 8/ 1 36. 55 8#% ( 0.61)
OPN Akt £k MY S 4“5 /N5 7/ 1 36. 72 8f% ( 0.56)
OPN A7)l E#L 1 TS SHIJI /N5 6/ 2 37.06 8tk ( 0.62)
OPN finBF-> & O ISOZI=EEs /NG 5/ 5 37.10 St (0.72)
OPN EH B3 JSSKE /NG | 37.14 8%k ( 0.54)
OPN HIkf  f&E VAt A HD /N5 6/ 5 38. 37 7#%  ( 0.58)
OPN $nA 51K FfES S /N4 5/ 3 38.42 9% ( 0.74)
OPN &  AAE S8 N N 6/ 3 38. 47 7#%  ( 0.80)
OPN BRIl 323 IZSVrs Y=l /N4 5/ 4 38.70 6% ( 0.56)
OPN /NGl fndgE FftS S ! 4/ 1 39.15 8#% ( 0.80)
OPN f&Ii £ 7SS /N5 6/ 8 39.23 65% ( 0.61)
OPN =% B A S S /N 4/ 6 39. 68 8t ( 0.61)
OPN #KH A A h~ ik /N3 4/ 2 40. 14 7% ( 0.65)
OPN fFik VW4 WYy AR ! 5/ 6 40. 32 7% ( 0.64)
OPN [l HEK A~ okt ! 5/ T 40. 44 7#%  ( 0.65)
OPN EH RE 5SS /N3 4/ 7 40. 61 104% ( 0.71)
OPN A7 HA LA8S S /N3 3/ 7 44.15 T#%  ( 0.62)
OPN V&% & =PANZ e A /N3 3/ 3 44. 29 7% ( 0.80)
OPN L H 5 B — N IIN2 3/ 8 45. 31 7% ( 0.59)
OPN 1A= 2 A ME 5 A4 h~ LR /N4 2/ 2 46. 32 3% (0.61)
OPN i+A& [hE A "~ 40k /N3 1/ 2 48.93 4% ( 0.68)
OPN Wz 5 A4 h~ 40 ! 2/ 7 ZiE ( )
No. 25 ¥ 50m #Fik = B A LL— R R
L 11~121% >
JBEhL K £ Fr & 2E KB =G
1 EE ] 1 S SHPK 1 11/ 8 31.13 108% ( 0.56)
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20254EF J S C A = HE Hulik B =k ki ke 2/3
S ZHEASEG AR—Y Ok 85K APk (25m)
WA ;202556 H29H (H)
No. 25 &F 50m k= B4 L L—R R
L 11~121% >
B K £ T B 2E KK icE
2 /g k7S C NG 9/ 3 33. 64 9% ( 0.59)
3 ks fEAY JSSHATF NG 9/ 7 35.94 6% ( 0.62)
4 fnpkE o P k7S C NG 7/ 6 36. 91 65% ( 0.67)
5 Il AR VAN N6 6/ 4 38.00 5%% ( 0.60)
6 R HEif HT7%ASS M 5/ 1 38.30 4%%  ( 0.66)
T EHEEALAE Hhv7SC /N5 4/ 4 39.92 4%%  ( 0.76)
8 RIS B OFBH7=% NG 5/ 2 41.13 3tk ( 0.82)
9 JbJil FaE HT72AHSS NG 4/ 3 41.17 3% ( 1.00)
10 B8 A OFBBT2£ 0 /N5 3/ 4 41,27 3% (0.61)
11 = —K HT72ASS /N6 2/ 6 4477 ( 0.68)
12 JE/K S FEAS S NG 3/ 6 45. 43 ( 0.81)
B HEfE kv 7SC 1 1/ 4 = ( )
OPN /NI Wess vty AR B 55 /N5 11/ 5 30.73 12#% ( 0.62)
- JOC
OPN R ML ISSZI=E:s Flo11/ 2 30.96 118  ( 0.62)
- JOC
OPN R frFlAcme a % Bl 10/ 2 31.85 10#% ( 0.59)
OPN HHliAad & BAA b~ F1 10/ 3 32. 01 10#% ( 0.61)
OPN {Fik &AL v— FKH /N6 10/ 5 32. 86 9%k ( 0.67)
OPN ZRINEEE D A A [ N6 9/ 4 32.88 10%% ( 0.69)
OPN KH K B A4S S 110/ 7 32.95 9% ( 0.66)
OPN &G 7e D24 A okt /N6 10/ 1 33.34 9% ( 0.61)
OPN H#& 1616 E— RSF 1 10/ 8 33. 86 8#% ( 0.52)
OPN ) 1187 & - A4 h~ U 4EE NG 8/ 8 34.28 St (0.76)
OPN ZZjE  1XJh = AN =NV 1 8/ 6 35. 41 % (0.74)
OPN i)ll Rz 2OV R NG 7/ 3 35.77 7#%  ( 0.65)
OPN HAR FE A8 S S /NG 7/ 2 35.92 % (0.72)
OPN JaH:  FEAE V T —5 N 7/ 5 36. 25 7#%  ( 0.62)
OPN [ SERtF vt AN H /N6 8/ 7 36. 61 % (0.72)
No. 25 ZF 50m #Ejk = B4 LL— R R
L 13~14:% >
BRI K 4 i B 2E KB =G
1 BEJFERT H7H% eSS F3 11/ 1 31.73 9f% ( 0.61)
2 BN Xz NRZ AR 2 10/ 6 32.58 S8t ( 0.59)
3 FEH AW 4 KK 777 3 8/ 2 33.43 7#%  ( 0.59)
4 KH A k7S C 1 9/ 5 34.52 65% ( 0.66)
5 za)ll FiT HERy7SC H12 8/ 5 34.78 5%% ( 0.60)
6 —JEEXE ALY A H2 7/ 8 37.54 3k (0.77)
7 A)| B AEHMN AT 3 4/ 5 39. 41 ( 0.77)
OPN FLH L3 vty AR 2 11/ 4 29. 39 12%% ( 0.54)
OPN EEONV2 D N OVE = H 3 11/ 6 30. 14 10#% ( 0.60)
OPN #aAs 2} ¥I5SS F3 11/ 3 31.13 9%% ( 0.68)
OPN #FHH Hhfr VAt A B it 2 10/ 4 31.86 8% ( 0.54)
No. 25 ZZF 50m &k = BALL—R R
L 15FULE >
B K £ ir B 2E KK =G
OPN Vafs  HHAT VAt A B it =2 11/ 7 32.10 T (0.64)
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20254EF ] S C A = H Hulsk 5 2Kk i k& 3/3
S ZEHAAMG AR— Y O 85FE Kk (25m)
WA ;202556 H29H (H)

No.25 % F 50m &k = A4 LL—RREE

L 15mLLE >

B & 4 & PE KR B fE

OPN ZRJIl  #us A hv AR W3 6/ 1 35.88 3% (0.62)
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